Py

Algebra 1

Unit 9 Review — Quadratic Equations

What you need to

Name:

Date: Z Period:

Things to remember

Exampl
know & be able to mples
do
l. Solve a Determine where Q. Solve by graphing b. Solve by graphing
quadratic function | the greph crosses ; Ay T 1T
by graphing the x-axis. b \ t [ ;
‘“‘""f"—_ e ---uT ——t ———— g ———i
Solution is written as [ -8 J
X= | ‘ Y = 2
. 1 o e NS N ) e Y
Solutions are called: = st bl = N =l
x-intercepts E | | q
zeros - . — 1ttt -\-
roots ; ;
|| l
i I S S — .._~I‘_ S | —
X=1 , X=3 B SR R T
2. Determine the The zeros and

equation of a
parabola using its
zeros.

factors in the
equation have
opposite signs,

a. Create an equation, in factored
form, to represent the following graph.

v= (X 1 Y)(¥-3)

b. Create an equation, in factored
form, to represent the following graph.

| ! | x|
\ Vil
JANE

l :

3. Solve equations
in factored form.

Zero Product
Property

a. Solve (x-7)(x +3) =0
X%f:o Xt3=0

IRI(E /3 =2
¥="l

4. Solve equations

a. Solve for x: x2—-9x+20=0

b. Solve forx: x2— 13x + 47 =

' -1 -
by factoring. (X-y YX-5) =0 X -131440=0
X-4=0 ¥-9=0 - (X-8)x-5)=0
.EL _,_’f___i-rl X- —(08 ?-5':0
=] T i s

[x=81 1x=5
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Ropat g o

C.x2-13x+47=7 d.x2-100=0
(X 10 X-(0) =0
XH =0 X-If=0
-0 HO+10

|X=—1J )l——IO\

-2=0
L 12

X=2

31}2’ =0

B

e. Solve 5x2-16x+12=0 fSoIve3x? 18)( =_Q_
5 ;q 3 3 38 3
o 2 3007 Ly +B)=0
(Bx- L)X - 2)=0 31 Y- 520

-0 X-3=0 -y=0  %-9=0
5 tl FA t 1 4| tb +H

k=0 X=2 Dt’]l lx=6f
[

g. Sol;e-ixbr ZX—‘% =0 h. 6x2—5x—+151 3}?

p i lém“- 51~ 1p=0
soyr-2 )=0 3x -2x -3-2
(3)( g)( bx-y -1

B+ a)2x - 3 )=0

zO X" -‘—'0
31{5 -2 2+ +9

x=-8 30
E 45 —?%E%
i. Solve x2-4x =0 j.Solve 12x% = —36x
¥ L X 13@1 3oy,
0
X - :0 IQ)L faﬂl
Y.(X-Y) = o
L-$=0
efA 1Y )y (x+3)=0
X=u i3pz0 X370
Bs —5-3
%= 0} m
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5. Solve equations
by finding square
roofs.

Use solving by
square roots when
your equations have
parenthesis or two
terms (a & ¢).

PEMDAS
(backwards)

a x2=ﬁ2

=+Jl2a

!x: 1‘25'

b,

x2 = 392

=+

C.7x2-3'= 445 dJix-4279
—_— _ 4
-8 3 “; *

—7 -
I

3 YA
]EEF']:

e Ax+2)2=72 f.3(x—3)2_+ =26
Caad ST
(x+2)430 lf%_@ ‘.Z-g 15 3 =
]X =31313
Xe3=2b Jo-&=8
':, o X-3= B 8 +3
tA> =
X-Ad i A X-3=ta/3  [Xx=3-202
i 3 :qi | A=-8
6. Solve equations | Move the ¢ term to a.Solve x2+ 4x + 11 =10. Then find | b. Solve x2— 16x + 51'= 0. Then find
by completing the | the right side the vertex. = the vertex. =52
square 5 2 ¢
" [b)zf Xryy+d =14y X—!lox+(9 ==58+ b
se[—| to —
2 b e 4 b:
complete the squareX =2 ’ ( X+ 2)15"—"5 ‘ \’ (X 8 '\, |1 2.
and then apply i $°-
square root mefhod(,.;!)’;q ‘“’2'—

X+a

:tﬁ
e, ng:[’q x-a _tar.
¥+f=43 = x-8=-N3"
A -2 1 fé_f +8 18
$=-2+/3 x=8+a03 | \x=8-303
W
(ng) = C’X_'B)q: L%
U= (x+2)'-3 __n
| Verky: (2,3)| U\ (x-gy-12.

\iﬁﬂw = \’ﬂ
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7. Solve equations
by using
Quadratic Formula

Use Q.F. when the
equationisin
standard form and

a.x2+10x+15=0

©® v=4ae = (10Y-4(1Y15)

b.2x2+ 10x =1

-l -

2*+10x-1=0

Zero: one real
Negative: zero real

number diamonds -
does not work. - Yo O N ( .
1) b=y =\10)~- -1
x_—bj:Vbz—4ac @ 7\'—"b.“.‘r“ ‘lgf__m a.c _ 108) Y(rX )
- 2a o 20V =
2a
= -br -\ Of\J
:-IOi‘Fo @ X bz r = 2(2’)08
j a
-_'s‘ ] - +
= -10tq{0 - _Q"_L,—E v/
a ] S 3
5 £
- -__._—_
H2
=|~ bt 373
2
c.3x2+6éx+3=0 d.8x?-4x+7=i
-2 -
2 2
® b*Yac = (0)-4(3X3) | g4xr5=0
-— 2
=0 O -dae = (-4)=4(8L7)
@ x= -prJ " -LO = - 144
200 al3) -
RIS
ge.—~ b r ud
)
= ] —1 [
8. Use the Discriminant; a. Calculate ihg discriminant and tell b. C0|cu!ctg the QIsgﬁminont and tgll
discriminant to b2-4ac number of solutions: how many times it will cross the x-axis.
determine the X2+ 2x+1=0 6x2-7x-3=0
number of If the discriminant is:
solutions Positive: two real ba- dac ) . Y or

(2Y-4 (LY (= -30
T“}’]o JDlu,ﬁm\

(-1) =y (WE3)= 14l
Two Sblu,‘HOﬂS\
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9. Determine the | Use graphic a x -ﬂ =5 b. 5x2-7x=0

best method for organizer to 41 419 -
solving quadratic | determine the best "J'_:;_'—_-‘—- X (5Xt ™ rJ) =0
equations. method for solving -_-.,
each equation. X ™ ¢
= +J14 X=0| 5%-7=
i1 11
/
1=1
5
Ty "
C. X+ 5)2= 64 d. x2+12x+36=-
Y +5 t
X 5)1'5 | L")
( o %%+ 12% +36=0
X5 < -
X 1) x+5)=0

¥ \J’YTOJj .C)'U&OQQ_ L_*g'i‘}j ng::;{ Xr ‘{:o Xrgfg
1o wae a pulorent =] x=4 = T

cgj- Qorme ONWes. K [e serexs1=0 f. 32+ 13x+12=0
® bruoc= (BY4(6)X) ¥ v
= 4o L
@X'—'—'\oir: -81% !-11
yr - 8lb) (3 X +3)=0
s L %
= '8’1-2’\/7(_J 3)(_{3:0 X+3=0
lab ’__‘_,L':L -y =5

a3

zly+Jio
© X”'%

a. g(x—2)2=_]__2§5_ h. ()(2—16=0
(e 0 )=0

x-2= %5 X+Y=0 X‘;(:O

/ N -y A
s | e T
A a2 A 42 X=-
[X:"Ii r=-3
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i 52-3x-1= j. x2-15x+56=0
il -ﬁ

B 2yeB <0 (X-8Xx-7)=0
v v X-8=0

5ex A% 18 18
(5)&"'8 Yx+1 )=0

5x-p=0 X'
18 18

ik
5

 %=8l5

X-71=0
7] 17
X=8 x="1

—
-

-

10. Applications

A ballis thrown into the air from a height of 4 feet at time t = 0. The

you see,

Think about how you
will undo the square
term.

of Quadratics function that models this situation is h(t) = -1612 + 63t + 4, where tis
measured in seconds and h is the height in feet.
~Y
a. When will the ball be at 50 feet?
—lot® + L3t t4=
-50 -50
“1et? + L3t -4L=0
O o*-dac = (63) -4 (1K) (-y,)= 1025
= B )
@ x=-btI " _uzx{Tas _ -LbpEdas A
2 2 () 22 Ny 99
The oqll will be 50\t
hiaw et 0.97 and 2-97 Cleando.
b. n will the ballbe on The groun
—lt?*+ W3t +4=0
2
© b*Yoe = (LW)-Y(r16)(y) = 4A35
x2-b . -3t Jams L ms 7 DU
2o A(06) R Ny oy
Jhe o) Juts 1o grournd o & Geands
11. Solving literal Remember you : i 2
equations “literally" write what G, meteller r.FA— i b. Solve for s&V %szh

X

j'—%—“fl W 1
: E g

—
—

S:wlég’ |
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